Csemetekerti vetési térkép  2007.
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1. tábla




leltár
KTT   1/0    1-35 sor,

35 sor * 100 m* 25 db =  87.500 db       
    MCS  1/0   36-50 sor,

15 sor * 100 m* 21 db =  31.500 db       
    MK    2/0    51-70 sor

20 sor * 100 m* 32 db =  64.000 db       
2. tábla

    KST   1/0    1-10 sor,

10 sor * 120 m* 30 db =  36.000 db       
    FD      1/0    11-25 sor,

15 sor * 120 m* 18 db =  32400  db       
3. tábla 
   KTT   2/0    1-40 sor,

40 sor * 120 m* 23 db =  110.400 db       
4.  tábla   Ugar

5. tábla    Díszfaiskola
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